PRACTICAL NO  9
AIM: W.a.p to perform addition of two complex no.using constructor overloading.The first constructor which takes no arguments is used to create object when not initialized.second takes one arg and used to initialize the real and imaginary part &the third constructor takes two args and used to initialize real and imag of two different values. 
SOURCE CODE:

#include<iostream.h>

#include<conio.h>

#include<stdio.h>

class complex

{


float x,y;

  public:


complex(){}


complex(float a){x=y=a;}


complex(float real,float imag)


{



x=real;



y=imag;


}


friend complex sum(complex,complex);


friend void show(complex);

};

complex sum(complex c1,complex c2)

{


complex c3;


c3.x=c1.x+c2.y;


c3.y=c1.y+c2.y;


return(c3);

}

void show(complex c)

{


cout<<c.x<<"+i"<<c.y<<"\n";

}

void main()

{


clrscr();


complex A(2.7,3.5);


complex B(1.6);


complex C;


C=sum(A,B);


cout<<"\n A= ";show(A);


cout<<"\n B= ";show(B);


cout<<"\n -----------";


cout<<"\n C= ";show(C);


//Another way for initialization.


cout<<"\n ~~~~~~~~~~~~~~~|";


complex p,q,r;


p=complex(2.5,3.9);


q=complex(1.6,2.5);


r=sum(p,q);


cout<<"\n";


cout<<"\n P= ";show(p);


cout<<"\n Q= ";show(q);


cout<<"\n -----------";


cout<<"\n R= ";show(r);


getche();

}

OUTPUT
A= 2.7+i3.5

 B= 1.6+i1.6

 ------------------

 C= 4.3+i5.1

~~~~~~~~~~~

 P= 2.5+i3.9

 Q= 1.6+i2.5

 ------------------

 R= 5+i6.4
